Divide by 100 (])

Find each quotient.

8.6244 - 100 = 0.796 +~ 100 =
1.1+100= 9.4937 - 100 =
7.912 + 100 = 2.1+100=
4.647 + 100 = 7.75 + 100 =
6.591 - 100 = 3+100=

9.87 - 100 = 6.9194 +~ 100 =
443 +100 = 4,102 + 100 =
6+ 100 = 1.95 + 100 =
8.673 + 100 = 5.7363 +~ 100 =
9.673 =100 = 3.84 +100 =
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Divide by 100 (J) Answers

Find each quotient.

8.6244 -+ 100 = 0.086244 0.796 =100 = 0.00796
1.1 +100=0.011 9.4937 +- 100 = 0.094937
7.912 +100=0.07912 2.1+100=0.021

4.647 =100 = 0.04647 7.75 +100=0.0775
6.591 =+ 100 = 0.06591 3+100=0.03

9.87 + 100 = 0.0987 6.9194 =+ 100 = 0.069194
443 +-100 =0.0443 4.102 =+ 100 = 0.04102
6+~ 100 =0.06 1.95+100=0.0195
8.673 +~100 =0.08673 5.7363 =100 = 0.057363
9.673 =100 =0.09673 3.84 +-100=0.0384
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